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PHYSIOLOGY
PAPER—I
(General)
Full Marks : 90
Time : 3 Hours

The figures in the right hand margin indicate full marks.

Candidates are required to give their answers in their
own words as far as practicable.

Nlustrate the answers wherever necessary.

Group—A
Answer any two questions, taking one question
from each of the Sub-groups. 2x15
Subgroup—A(a)
1. (a) What is cell membrane?

(b) Describe with a suitable diagram the fluid mosaic
model of cell membrane.

{c) Mention the fuhctions of the cell membrane.
2+(6+2)+5
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2. (a) What is respiratory quotient (RQ)?
(b) Define osmesis and state the factors affecting osmosis.
c} What is viscosity? Discuss its physioclogical
importances. (2+3)+{2+4)+{2+2)
3. (a) Describe urea cycle mentioning its significance.

(b) Describe the mechanism of HCl secretion with a

suitable diagram.
(c) Describe the structure of protein.
(4+1)+(5+1)+4
Subgroup—A{b)
4. What is haemostasis ? Discuss the modern concept of
blood coagulation. What is purpura ? 2+10+3
S. {a} What do you mean by reactive hyperaemia ?

(b) What is renal circulation ? Discuss the peculiarities

of renal circulation with a suitable diagram.

{c} What is circle of Willis ? 3+(2+8)+2
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6. (a) Discuss the origin and propagation of cardiac impulse.

(b) Describe the mechanism of action of central

chemoreceptor in the regulation of respiration in

human body. {4+6)+5
Group—B
Answer any five questions, taking at least fiwwo questions
from each of the Sub-groups. 8x5
Subgroup—B(a)

7. (a) Mention any two functions and deficiency symptoms
of vitamin C in the human body.

(b) Discuss the process by which calcium homeostasis is
" maintained within the human body. (2+2)+4
8. (a) Discuss in detail the process of glycolysis.
{b) What do you mean by substrate level
phosphorylation ? 6+2
9. (a) Mention the factors those affect enzyme activity.

(b) What are the differences between lyophilic and
Iyophobic sol ? 4+4
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10. (a) Describe the movements of the small intestine.
(b) Differentiate between hepatic bile and gallbladder
bile. 5+3
11. (a) Mention the characteristics and functions of epithelial

tissue.

(b) What is autophagosome ? (3+4)+1

Subgroup—B(b)
12. Describe five characteristics of cardiac muscle. What is

meant by syncytium ? 5+3

13. What is hypoxia ? Describe the different types of hypoxia. -
What is meant by respiratory alkalosis ?
(2+4)+2

14. What is ‘Juxta-Glomerular Apparatus’? With a suitable
diagram describe its structure and functions.

2+(4+2)

15. Write short notes on the following : 2%4

() Normal waves of ECG and their importance ;

{b) Micturation reflex and its function.
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16. Write briefly on : 4x2
{a} Cyanosis ;
(b) Renal function test ;
{(c) Heart block ;

(d) Arneth count.

Group—C
Answer any five questions, taking at least two questions
from each of the Sub-groups. 5x4
Subgroup—Cia)
17. What is cytoskeleton? State its functions. 2+2

18. (a) Mention any two functions of lysozome.

(b} What is dialysis? 2+2

19. (a) What is Tyndal effect ?

(b) What is an isozyme? Give one example. 2+2
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20.

21.

22.

23.

249.

25.

26.

{a} Define SDA.

(b) Name two essential amino acids. 2+2

Mention the differences between gluconeogenesis and

glycogenesis. -4

Subgroup—Cib)
{a} Why is SA node called the pacemaker of the heart ?

(b) What is starling’s law of heart ? 2+2

What is the difference between anatomical dead space and

physiolagical dead space ? 4
Mention the names of any four abnormal constituents of
urine. : 4
Mention the different steps of erythropoiesis. 4

Mention the differences in the histological strycture of

artery and vein. 4
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